Discussion 3

In a statistic class, 10 scores were randomly selected with the following results were obtained: 74, 73, 77, 77, 71, 68, 65, 77, 67, 66
1. 
What is the mean? 

A. 71.5

B. 72.0

C. 77.0

D. 71.0

E. 73.0
 2. 
What is the median? 

A. 71.5

B. 72.0

C. 77.0

D. 71.0

E. 73.0

3. 
What is the mode? 

A. 71.5

B. 72.0

C. 77.0

D. 71.0

E. 73.0

4. 
 What is the median of 26, 30, 24, 32, 32, 31, 27 and 29? 



A)  32 



B)  29 



C)  30 



D)  29.5 

5.  
A sample of single persons receiving social security payments revealed these monthly benefits:  $826, $699, $1,087, $880, $839 and $965.  How many observations are below the median? 



A)  0 



B)  1 



C)  2 



D)  3 

6.  
The lengths of time (in minutes) several underwriters took to review applications for similar insurance coverage are: 50, 230, 52 and 57. What is the median length of time required to review an application? 



A)  54.5 



B)  141.0 



C)  97.25 



D)  109.0 

7.  
The following are the weekly amounts of welfare payments made by the federal government to a sample of six families: $139, $136, $130, $136, $147 and $136.  What is the range? 



A)  $0 



B)  $14 



C)  $52 



D)  $17 

8.  
The weights of a sample of crates ready for shipment to Laos are (in kilograms): 103, 97, 101, 106 and 103.  What is the mean deviation? 



A)  0 kg 



B)  6.9 kg 



C)  102.0 kg 



D)  2.4 kg 

9. 

 The ages of all the patients in the isolation ward of the hospital are 38, 26, 13, 41 and 22.  What is the population variance? 



A)  106.8 



B)  91.4 



C)  240.3 



D)  42.4 

10.  
A population consists of all the weights of all defensive tackles on Sociable University's football team.  They are:  Johnson, 204 pounds; Patrick, 215 pounds; Junior, 207 pounds; Kendron, 212 pounds; Nicko, 214 pounds; and Cochran, 208 pounds.  What is the population standard deviation (in pounds)? 



A)  About 4 



B)  About 16 



C)  About 100 



D)  About 40 

11.  
The weights (in grams) of the contents of several small bottles are 4, 2, 5, 4, 5, 2 and 6.  What is the sample variance? 



A)  6.92 



B)  4.80 



C)  1.96 



D)  2.33 

12.  
If the sample variance for a frequency distribution consisting of hourly wages was computed to be 10, what is the sample standard deviation? 



A)  $1.96 



B)  $4.67 



C)  $3.16 



D)  $10.00 

Use the following to answer questions 13-14:

Consider the following frequency distribution:
Class

15-25
25-35
35-45
45-55
55-65
Total

Frequency
   15
   15
   35
   25
  10
  100
13. Determine the Arithmetic Mean (approximately)


a. 3.5


b. 40


c. 5


d. 35

14. Determine the Standard Deviation (approximately)


a. 14000


b. 141.4


c. 140


d. 11.89

Use the following to answer questions 15-16:

Consider the following table:
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	1
	2
	3
	4
	5
	Total
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	10
	6
	3
	9
	2
	30


15. The mean is


a. 2.57


b. 15.4


c. 3.0


d. 10.2

16. The standard deviation is


a. 1.4

b. 1.34

c. 1.89

d. 1.96
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